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(b)| An engineer is working in mountainous terrain.
She needs to know the distance between two locations
E and F which are inaccessible across a deep porge
(see diagram below). She finds two locations
C and D on her side of the gorge which are on the
same level such that

ICD! = 20 metres.

C\LM@EI‘
Using a iheodotire, she finds the E

measure of four angles as follows:

|ZECFi = 48°

IZFCDI = 57°

|ZCDE! = 63°

|LEDFI = 50° o
Use this information to find IEF, '
showing all your work clearly. _ ,
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